
ENIGMES MATHEMATIQUES 
 

  Réponse :  ____ + ____ + ____ + ____ 

 

  Réponse :  

 Réponse : ______ voitures, ______ camions 

 

Où habite chaque enfant ? 
 

 
 

 

 

 

 

 

 

 

 

 

 

 



CORRECTION ENIGMES MATHEMATIQUES 
 

  Réponse :  5 + 5 + 4 + 2 

 

  Réponse :  

 Réponse : 5 voitures, 2 camions 

 

Où habite chaque enfant ? 
 

 
 

 

 

 

 

 

 

 

Paul 

Sabir 

William 

Marie 

1 voiture = 4 roues 

1 camion = 10 roues 

 

5 x 4 = 20 

2 x 10 = 20 

 

5 + 2 = 7 véhicules 


